
Grade 2: The commutative and associative property of addition 

Appendix 2 

 

1. Solve the problems using the rule of grouping up to 10. 

 

2. Circle the pair of numbers which sum is 10. 

8 + 2 7 + 3 1 + 9 

5 + 4 6 + 4 8 + 5 

5 + 5 2 + 7  5 + 6 

 

3. Solve the problems using the rule of grouping up to 10. 

Example: 

1) 6 + 4 + 2 = 10 + 2 = 12 2) 6 + 4 + 3 = ______ 

3) 7 + 3 + 6 = ______ 4) 4 + 6 + 3 = ______ 

5) 5 + 5 + 4 = ______ 6) 8 + 2 + 6 = ______ 

7) 9 + 1 + 7 = ______ 8) 7 + 3 + 5 = ______ 

 


